Real Quiz # 7 for Dr. Z.’s MathHistory

NAME: (print!) \I(Vif/ﬂ/\ UI\MM(K

Email DrZlinear@gmail.com as soon as I tell you (around 3:15pm)
Subject: q7

with an attachment called

q7FirstLast.pdf (e.g. q7PaulErdos.pdf)

1. (2 points) Who “proved” that
1-14+41-14+1-1+1-1+4...

equals %? Briefly describe his “proof™.
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2. (2 points) Who translated Newton’s Principia into French, and who wrote Lettres sur les
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3. (1 point) Who proved that every integer is a sum of four or less squares?
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4. (2 point) Express the permutation
1 2 3 45 6 7 8 9
9 8 75 6 4 3 2 1 ’
as a product of disjoint cycles. What is the smallest ¢ such that 7 is the identity permutation?
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5. ( 3 points) Prove that in the nine puzzle, if you start with
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by sliding.

Note: You can use (without proving) the lemma that whenever two elements of a permutation
trade places, and all the other elements stay where they are, the number of inversions changes by
an odd integer (i.e. is £1,43,£5,£7,... of what it used to be.

T wale n legal e tnwh J‘ﬂcl'my O, (Cal navne
eyt pvdy of S 11 O npselde R o B
o puiby R is win (0 +343) o pushy et
s odd S [\ 5%3) Py sidin Lo
horrontally o wU’riculL\ﬂ_



